220 120

s

el

PSS

Roll No.
H.S.S.C(l |th)-A-2024

\

(:_'//;:;/':g")
=Pber

2z

[Papchode[6|5|4|1]

ﬁu’:’..//::_u'u:/béc:difﬁ.d'r//db’d!.?dl S Lo 3D sICBe A._«Ll::jjbﬁd'f/ g
-(f/!dbk.('ﬁuiaJ:uJ!’JL./(/u(Ld./JU:/buLJL._f- < ;/E{c.u:-'_l_./ﬂ//bdw

Note: You have four choices for each objective type question as A, B, C and D. The choice’ which
you think is correct, fill that circle in front of that question number in you answer book. Use
marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.
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' "Principles of Economics" was
written in: ‘
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Maximum Zero Negative Positive When marginalnu.tilit' becpmes
X zero, then total utility is.
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Direct Decreasing | Negative Positive |The relationship between price

. and supply is:
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Horizontal Infinite Negative Positive ~ [The slope of demand curve is:
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Fixed Infinite Negative Positive  [The supply of perishable goods is:
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The numbcr of firms under| -
monopoly is:
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L The factors of production are:
| JJ‘;?‘J/ ‘ _..;L,“jc, ;lf!d/ =l UI(JMJ(;U:Q/?UJI; 9
‘ ;?IJ/LP' . Profits Visible Services |Balance of trade includes:
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! goods and ®
- Invisible
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‘r\’.VorI'd Trade cycle - International Domsstic Th.e.r-ise- and fall in economic
\Et;css:on - trade trade activities is called: - ]
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Werite short answers to any Six parts. (6x2=12) -{;’:{ /::.l.,ljtl,lmég.éf 20l

Define consumption of wealth. ‘ -._:“‘:( - /‘7&.—)”..5/ i
-< t'Ll:chuJ/’uu_?L/ @f{&i&&»ﬁﬂﬁﬁub’:{';h‘ct‘(gk_ft';}cc }ﬂ;), e =ty ;._i/A 4

Consumption of wealth refers to how wealth is spent. The part of wealth that we spend on
necessities of life is called consumption of wealth.

What is meant by economic laws? s',_,’/u’ﬁ_cf;}‘fl,» (ii) |
j ' ‘ » - Y
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Economic laws refer to the uniform behavior people that adopt during economic struggles, iein
such situations when their desires are very high but the means of fulfi

conditions remain the same, the behavior will always remain the same
‘ ?
of economic law.

Il them are limi.téd. If the
Therefore, it takes the o7

Define Micro-economics.
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In micro economics, the behavior of individual com i studie®
> 0 U |
ponents and elements of an economy iS5 J |

For example, determining the price of a single

g
. commodity or 3 sj a study *
observation of the behavior of a firm, Y Or g single consumer or
y
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\llf“ is meant by saturation points?

| Zy
ke 1Y
Lpuring thie use of an item, the unit of the item on which the comumcH dulrc is completely

thsﬁed i.e. the final utility of the item becomes zero, then it is called saturation point.

gpefne total utility, . -s{—”f’&:uk}’ “)
mc utility obtained by using all the umts ofa commod ity is calILd total utility.

Vhat is meant by Point Elasticity of Demand? S‘ﬁ;_,,/Lfc.JouJ (vi)
J-guﬂJJfJka)J’JJir(‘ﬁhJkd:"’de'JJJ:_aqub.J’ydr VeI Sted ih T,
ftherc is a very small change in price and because of it, there is also a very small change in
femand, then this type of change in demand is called point elasticity of demand.
Explam the difference between stock and supply. -éuhu}uﬁu,imbw (vii)
,,i’»'/c_,w.ﬁ-u‘é'fn/:¢’c.dr:i/JL£u»b/_-’:/‘gfdy:’:'wu ug,(c_d)u‘dh.kltf T
JlLUJ/K——?J/JJM_JJO’(/Uv"U"L/J‘iLL./—)J//Ju)",'v(bb ‘s/.__.t‘! gy
peY:e (300 AS S g d 1 E G0 Si i L e st o 5006
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The total quantity of a commodity that is available to sellers in the market at a given time is called
stock whereas supply refers to the portion of inventory that sellers offer for sale at a specified price,
for example, if at some point in the market sellers have a total quantity of 500 tons of sugar, it will
‘be called stock. Now if he sells 300 tons of sugar out of this total quantity at the price of Rs. 10 per
kg if presented to do, it will be called supply.
What is meant by joint supply? ?."_:'/Lfc.,w.f/ (viii)

_o/‘s,.»«;"mpflb‘c.(}LL'(M;J/#JL,(U*V.d- Lvu' 4 chlJl Wl
The supply of such commodities which are produced together is called join supply. For example:
wheat and straw etc.

State the concept of standard price. : -':fuhrx“b':a&.d;_l,v (ix)
| .,fr.,s,t,utéu,iu»n,u;,uﬂn_m,.,lbu:.,w e dnad e editadE 5 i
“. & a
_J’u&(}_’}‘j:f‘j'du"fiuUL’,«EYMU-)V/L})’J;/‘J-.,J S SISy vc‘.'sgf-\ﬂ.,f“&::_
The standard price of a commodity refers to the price prevailing in equilibrium of supply and
demand in such situations when employers have enough time to adjust the supply of the commodity

in case of increase or decrease in demand. And be able to do more, i.¢. the supply is not fixed but it
can be increased or decreased possibly according to the circumstances.

Write short answers to any Six parts. (6><2 =12) é/futb’éﬂﬂé_c—&( -

What is meant by laws of cost? - ?u‘-{é-»wu”:‘ (i)
PRe J’w)_,'/w*d’I;J:J‘L('UKL}L.-:'}’QC' (B SRS LRIy g 2 il
..c_.t‘;‘gt‘g, '._(/

When the process of production is subject to different laws of return (Increasing, Constant and
Dlmmlshlng) exactly then different laws of costs (Dnmmmhmc Constant and Increasing) is also

Subject to. y
What is meant by total costs? Write down the formula. A!‘JGYL}’/L{LJJWJ (i) .

~9/;:r/,o/’(,l)’b/_,/lfﬂv"w-U"(v"u' fdluc_u/d/u]'}u fL.l.u',w'u Ld-.._:",uc T 4
The expenditure which a firm incurred on the making of a product are called its total costs e.g. rent

*Tbuilding, interest on loan etc. .
Fixed cost I - Total Cost dsterf
Variable cost s/l
\k
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What is meant by sh;Jrf run? ‘ ?"-"/U(G—L}j..j
Ju,/'}/v‘,}ﬂ/l/(a'blb/g)://J’(j‘!UCfo(J (./l)di{‘/u'u)c. C‘lpUJnu'/c_"}E_‘j
e Fuzpme2 b SIS u‘vJu*’Jw,.,,

Short run refers to the time during which the firm cannot change its size i.e. during this Perlod the
size of the factor and the number of installed machines cannot be changed as if its produo;t,0
capacity remains fixed,

Write down definition of Law of Increasing Return. : JJ/J&/)’U/:FQJF (iv)
fumwu.w’nm,«;(“'/db’l,«t//c_z..b/uum u"'uf’pfv&‘f' th'u‘c/' qu’r..p 'l
PRSIV o S TIPS PR o yis

When increasing the units of the variable increases the margirfal production at each i increment, the,
this trend is called law of increasing return. Another name for this law is diminishing cost.

"What is meant by total production? ?C-J/(falbquf

~ _4_L'l,LJZS,U.;J[!JUgd’:L.f‘,ybc.-JAJu:’b/'I’VJJd’JLBJJL"‘I Nl
The output obtained with the help of all the units of labour employed is called total productivity,

Explam the meaning of monopoly. ' 7 -Z:U‘frﬁr(djbuw (vi)
Lfd}f"(‘d‘/b’cwc.culJ(dezslr‘ﬁ//y(/d‘vffcu’(_).:.dx_»fbu) Jd.udzbubl I
e St S e S L g L s,

A monopoly is a market condition when a good is produced by a single firm and there are close
substitutes for that good else where in the market not available. For example in Pakistan \VAPD,\
has monopoly in power generation and supply.

What is meant by normal loss? . ?G.J/Lfcul»’d:‘v (vii)

= (LJWJ?[ b’-azb”wwadrd//w(f' K._uw,ﬁf ulc'_.dfd"//._dq/l,#a/"';lr/ AR
~GEYSANS S 3

A firm is meetmg its variable cost and partially meeting fixed cost v&hen pomon of fixed cost is
incurred as a loss if it bears, then this Icss is normal loss.

What is meant by land? Give an example also. -é:d‘d@?c.;/tfa.gﬁj (viii)
.-hfzfjc,..,};,(:d,du'fic_Jl/c.u/u"gﬂ.ﬁuc.:t-/‘&('/fu"’v- i/ e e R4

) _/;u'fnufl)dul/»'ruﬂ ':‘5._«'tg,(uuy"clw..«ih)ubdv‘_b!' is
Earth does not mean only the physical land on which we walk or liv

is freely given to us nature, such as mountains, forests, rivers, se
~ron, coal and petrol etc. ;

(ln)
3

e, but it includes everything that
as, light, climate, rain, minerals like

What i§ meant by mobility of labour?

?t‘_:/b(;d/;.f/"d;" (iv
-a_tliﬂu/»_f/ (Jtrd"u’(b /"Caf‘b-f‘-d-’d/ﬁ' ~5:9_£lb/,,v/f 4

- The movement of labour from one place to
labour.

Write short answers to any Six parts. (6x2 = 12) _(_’:/f_,u_;z_,[;[ic_d/m

Write down the methods of measurement of ’\"nmn.nl income, JL}LJ@JQ,IJ}
. 2687 .3 20 2 2 4€ U,l .
2. ‘Method of production

another or from one Jjob to another is called mobility of

1. Income Method 3. Expenditure Method

PRV SRS AR AE N Y 00 B

Why are depreciation allowances not counted in National income?
; /u’/ (UU-'(_.‘}/L;I/J/L’(OHJJ C_“JG}'JJ‘JL V-JL.’I’/"5/’JJ"—¢U"J~"__£.L./"/‘ 'L/J I,

-y u‘jl’gf'd;lu:’:uli "at‘bu__,bli'lf J!‘/ui' i.:,b:’!-

Machines and tools are used to manufacture goods an

d often break down so they ha\c 1o w
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| jd the c"pcnd"um made on their repair are called dcprccnahon sllowihce, Therefore, they are not
ountcd in National income.

i

W write down four characteristics of good money. ’ -&u,l,bﬁu'.l (iii)
; el 4 N 3 tr P05 2 SRS T
1 . e

{1, Homogenity 2. Stability 3. Recasonable Quantity 4. General Acceptability
’a' write down two effects of inflation. _4‘{_-_,1}[,,&,};1)1 (iv)
| SLILES g A 2 SUHAGE -1 iz
f. Increase in the demand for goods 2. Increase in costs of production

What is the effect of boom period on the economy? ?c.t‘ﬂ/lbf/_/b’dﬂ/l.r/ V)

{,mél.&'),yu,u Eisstife G’z’._.,IbJ.z.u,gnr_ LU Fre ot iSufie U Ler/ I
-g—t‘ﬁJU'a.dfgﬂdJK:,L/u'

Due to boom phase, the incomes of people increase rapidly which increases the demand of goods
and service which increases employment and standard of living and investment increases rapidly.

Write down four advantages of international Trade. 4!6 I);I'é:ullnﬂiﬂlcé (vi)
(Qs’uﬂu}u 2 ng;b.nvu;b.ﬁ.:ﬁ -1
Jreeifs 4 ’ I8 350l -3
i 1. Availability of commodity in times of scarcity 2. Establishment of world peace
| 3. Achieving rapid economic growth 4. Acquisition of foreign goods
| Define balance of trade. -.:{._i'/‘.’ifajb"'uﬂ; (vii)

|
j -ct’ﬂ:(.db’u./l)’ubrul)ﬁ.)l.‘;_,u UJd/JJ‘JLJuu l/d/d//dl/&.ﬁ..ﬂ
' The calculation of the value of a couniry's annual tangible exports and the value of its tanf,lblc

! imports is called the balance of trade..
| What is meant by public finances? Yt_J/b(c_.uULd/b’/ (viii)

i’i__{Lt-t,u,/bb(,,»lulu‘u'i-at'fc.—-.-bl]lu‘d,cIJ./:GLJU{U)(-rtKCVU"JyVl”‘-’ULJ‘(/ w7
e i e S P o Bus 347G 1P

Public finance is the name of the branch of economics that deals with government revenue and
expenditure. It would have reviewed these issues. From what sources does the government get its

revenue and how does it spend it.
What is'meant by Ushr? > e /‘ (ix)

-Lduf/,ﬁ,ulau’/ Lu/';'yw!r»"’t/g}’bdvf s Sels 12
" Ifitis intended to earn profit from the production of land, then Zakat of this production is obligatory
and this is called Zakat usher.

(r}’#" )

AL gz /._«w/.’.-mn;;.df
Attempt any THREE questions. Each question carries 08 marks.
Compare Microeconomics & Macroeconomics. -é.JV(.aVb*Jj:U)? s i

..Z: 5 l:;.ud/u;’t"/d/(ﬁug g }’J}’U‘J‘

e bemcen Point and Arc Elasticity with the help of examples.

4 ol prSap L e ]
Explain the firm equilibrium is short run under perfect competition.

\ erte down the causes of inflation in Pakistan. -Zi/fu&!)&/}l/lu:ubﬂ.

B L St Erignd B

Describe the measures for removing deficit in balance of payments.

—

Explain vthc differenc
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